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o FHMNERFKLOLSEHEAEMRIFBLUE, BERtRIEFIRIEETAN
o [k, HRMERWETENGFESHEN
o [RFERIKE:

2

Hg : Var(ulzy,xzp,...,2) = Var(u|x) = o
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o TRRFIRBAOLSEINIFMTMNFZEN_F (weighted least squares, WLS)

n 2
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- 2
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o WLSEI N H/N_3F (generalized least squares, GLS) BW—F4FHER
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o filF: ESRMESTE
— SEMESE

TABLE 8.1 Dependent Variable: nettfa

Independent (1) @) (3) @
Variables oLS WLS oLS S EAENBERR
inc 821 787 m 740
(104) (100)
(age — 25)2 — — . 0175
(0043) 0019)
male — — é-gg) (}-gg) WLsfhit= R BRREE NIFREIR,
z"‘s\ ' . ﬁé%ﬁgﬁﬂl‘]%ﬁ,ﬁﬂo
(ed0tk ) << _ — 6.89 5.19
N\ ’, o
~- ~~———_ (2.29) (1.70) i
intercept 057 T T==8se.__ 208 ~16.70 3
(2.59) (165 T ==~@EL__ (1.96) :
Observations 2,017 2,017 2,017 ~-~-Q'=NL~- E
= .;’k~~~ ~ kS
Resquared 0827 0709 1219 1115 g -~ £ E401KH%)
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